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Nome: Encontro: Data: Pontuacio:
—1x10° = 1x10° =
641,1 x 1002 = 699,3+ 1002 =
1003 = 1002 =
9x 100D = 1009 =
1071 = 1003 =
1072 = 1004 =
261,7 x 10° = 853,2 x 1003 =
774,3 x 1003 = 386 x 100D =
183,7 x 1001 = 719,6 x 10* =
476,3+ 1007 = 857.1+100% =
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Expoentes negativos de 10

Nome:

~1x10°=-1

641,1x 1072 = 6.411
107 = 0.001

9x 107" =0.9

1077 = 0.1

1072 = 0.01

261,7 x 10* = 26170
774,3 x 100 = 0.7743
183,7 x 1007 = 18.37

476,3 + 107 = 476300

Encontro: Data:

1x10° =1

699, 3 + 1072 = 69930
1072 = 0.01

107 = 0.0001

1072 = 0.001

107 = 0.0001

853,2 x 107 = 0.8532
386 x 107" = 38.6
719, 6 x 10* = 71960

857, 1+ 10 = 8571000
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Pontuacao:
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